How to interpret the geospatial issues flag

Hexadecimal numbers (list below from the indexing code) encode for individual issues. As each record can have more than one geospatial issue to be flagged, the geospatial issues column is made up by adding together flags for all issues detected. The most straightforward interpretation is that a value of zero means no issues detected. For the rest, the non-zero values represent the appropriate combination of the individual issues in the list below.

To convert an issue flag number (decimal) into the hex values:
· position of number after the x is power of 16 minus 1:

0x01 = 160 = 1

0x10 = 161 = 16

0x100 = 162 = 256

0x1000 = 163 = 4096

· numbers after the x are the factors:

0x20 = 161 * 2 = 32

0x400 = 162 * 4 = 1024
· to flag several issues, flags are combined:

0x420 = (162 * 4) + (161 * 2) = 1056, i.e.

value 1056 means "depth is in feet instead of metric AND coordinates do not match country name"
· to split the flag into the contributing issues, revert the process:

geospatial issue 4097 = 4096+1 = 163+160 = 0x1000 + 0x01 = "supplied min>max AND latitude appears to have the wrong sign"
/**

* Constant bit values for occurrence_record.geospatial_issue

*/
/**

* Set if latitude appears to have the wrong sign

*/
public static final int GEOSPATIAL_PRESUMED_NEGATED_LATITUDE      = 0x01;
/**

* Set if longitude appears to have the wrong sign

*/
public static final int GEOSPATIAL_PRESUMED_NEGATED_LONGITUDE     = 0x02;
/**

* Set if latitude and longitude appears to have been switched

*/
public static final int GEOSPATIAL_PRESUMED_INVERTED_COORDINATES  = 0x04;
/**

* Set if coordinates are (0,0)

*/
public static final int GEOSPATIAL_ZERO_COORDINATES               = 0x08;

/**

* Set if coordinates not in range -90 to 90 and -180 to 180

*/
public static final int GEOSPATIAL_COORDINATES_OUT_OF_RANGE       = 0x10;
/**

* Set if coordinates do not match country name

*/
public static final int GEOSPATIAL_COUNTRY_COORDINATE_MISMATCH    = 0x20;
/**

* Set if country name is not understood

*/
public static final int GEOSPATIAL_UNKNOWN_COUNTRY_NAME           = 0x40;
/**

* Set if altitude is >10000m or <-1000m 

*/
public static final int GEOSPATIAL_ALTITUDE_OUT_OF_RANGE          = 0x80;
/**

* Set if altitude is -9999 or some other bogus value

*/
public static final int GEOSPATIAL_PRESUMED_ERRONOUS_ALTITUDE          = 0x100;
/**

* Set if supplied min > max altitude

*/
public static final int GEOSPATIAL_PRESUMED_MIN_MAX_ALTITUDE_REVERSED          = 0x200;
/**

* Set if supplied depth is in feet instead of metric

*/
public static final int GEOSPATIAL_PRESUMED_DEPTH_IN_FEET          = 0x400;
/**

* Set if depth is larger than is feasible

*/
public static final int GEOSPATIAL_DEPTH_OUT_OF_RANGE             = 0x800;
/**

* Set if supplied min>max

*/
public static final int GEOSPATIAL_PRESUMED_MIN_MAX_DEPTH_REVERSED          = 0x1000;
/**

* Set if supplied altitude is in feet instead of metric

*/
public static final int GEOSPATIAL_PRESUMED_ALTITUDE_IN_FEET          = 0x2000;
/**

* Set if altitude is a non numeric value

*/
public static final int GEOSPATIAL_PRESUMED_ALTITUDE_NON_NUMERIC          = 0x4000;
/**

* Set if depth is a non numeric value

*/
public static final int GEOSPATIAL_PRESUMED_DEPTH_NON_NUMERIC          = 0x8000;
other_issue:
same principle; values:

  public static final int OTHER_MISSING_CATALOGUE_NUMBER = 0x01;

  public static final int OTHER_MISSING_BASIS_OF_RECORD = 0x02;

  public static final int OTHER_INVALID_DATE = 0x04;

  public static final int OTHER_COUNTRY_INFERRED_FROM_COORDINATES = 0x08;

